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Short answer questions/problems

1.  Basing capital budgeting decisions on a project’s profitability index may lead to the firm to incorrect conclusions about whether a project should be undertaken.  Why is this the case?

2.  Blue Jays Inc. estimates that a new store it is opening will require an initial investment (today) in net working capital equal to $100,000.  This will grow to $120,000 one year from today and $150,000 two years from today.  Blue Jays’ marginal tax rate is 35%.  What is the impact of this investment in net working capital on net, after-tax cash flows a year from today? Note:  Use a “+” to indicate an inflow and a “-“ to indicate an outflow.

3.  What is a tombstone advertisement and when is it used?

4.  Oriels Inc. has recently issued a convertible bond.  What is a convertible bond?

5.  What is the name of the type of analysis in which variable randomness and variable interactions are explicitly modeled and then a NPV distribution is created by running a computer model?

6.  Braves Inc. is considering undertaking a new project that can be expanded if sales exceed expectations.  List the equations you would use to determine the impact of this ability to expand the project.  

7.  Suppose a firm uses its weighted average cost of capital as a discount rate for all new projects.  If the firm undertakes a project which is less risky than the firm’s existing assets, what type of capital budgeting error might the firm make?

8.  Assume that capital markets are perfect and that Firm A plans to issue debt and use the proceeds to repurchase shares of common stock.  How should this change affect the value of Firm A?

9.  Assume that capital markets are perfect and that Firm #1 and Firm #2 have identical assets.  Assume also that Firm #1 has no debt in its capital structure (it is funded entirely by equity) and that Firm #2 has debt in its capital structure.  What would you have to do if you wanted to invest in the stock of Firm #1 in such a way as to provide the same payoff as if you had bought stock in Firm #2?

10.  How does the current corporate tax code affect the optimal amount of debt issued by firms?

Problems/Essays

1.  Pirates Inc. is considering undertaking a project which would require an investment of $100,000.  The project is expected to produce net, after-tax cash flows of $12,000 two years from today.  Thereafter, cash flows would equal $12,000 per year and would continue forever.  The market value of the firm’s outstanding debt it $3,000,000 and of its equity is $11,000,000.  The book value of the firm’s debt is $2,800,000 and of its equity is $3,500,000.  The firm estimates that the required return on its stock is 14% and states that the yield to maturity on its outstanding debt is 8%. Pirates’ tax rate is 35%.  The firm estimates that if the project is a failure, the assets can be sold for $40,000.  The value of this ability to abandon the project is $14,000 if valued as a call and is $9000 if valued as a put.  How would accepting this project change the value of the firm?  Should the firm undertake the project?

2.  The stockholders of Athletics Inc. have asked management to change the firm’s capital structure.  The stockholders all agree that they would benefit from this change.  However, the bondholders have expressed displeasure with this proposal and management is also expressing reservations.  What kind of change in capital structure would create these reactions?  Explain why this is the case.
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Answers:
Short answer questions/problems:

1.  Ignores scale

2.  –20,000 = -(120,000-100,000)

3.  Used by underwriters to announce security issue

4.  Bond that can be converted into common stock.

5.  Monte Carlo Simulation

6.  d1 = 

; d2 = d1 - 

; C0 = S0[N(d1)] - E * 

 [N(d2)]

7.  Incorrect rejection of positive NPV project

8.  No change

9.  Borrow and invest in Firm #1’s stock.

10.  Increase

Problems/Essays

1.  
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=> should not undertake project
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